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1. ‘(a) Solve the initial value problem : ‘ ‘ 6
(i +y?) dx — xdy =0; (1) =0
(b) Solve : : 6
(0? —x*)ds + Bx*y* +x7y-2x" +y*) dy =0
(0 . Solve : . : 6
y+px=x'p’ |
2 (@ Solve : ‘ = ’ 6.5

2
6f;%)—-t~4=cos2x+sin2x
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Solve : : o =05
3
x’-‘;—x{-u ‘;{+2y_10(x+—) _
Consider the differential equation : 6.5
.
———3 +2y=0
& a7

()  Verify that Y = € and y, = ¢ are the solutions

~of the above differential equation.
(i) Find a particular solution of the form
St o)

that satisfies the initial condition »0) =

Y(©0) = o.

Using the method of variation of parameters, solve : 6

2
%—23+y=xe‘logx, (x>0)

Given that y=x+1 is a solution of differential

equation : : 6
d’y dy
(x+1)2F —3(x+l) $+3y=0

Find a linearly independent solution by reducing the

order and write the general . solution.
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=ioteike) s Selveit go aniwciiol st ¥ ( 6
x2%+2x%—2y=leogx+3x
4. (@) Solve the following system of equations : 6.5
&  dy
—+—=—+2x+y=0
o G
—+3y+5x=0,
At
(b) Solve : ' : ; ’ 6.5
dx _dy dz

1 2 Sz+tan(y-2x)°
(@ Solve s o o 65
(ydx +xdy) (a—z) +xydz = 0. »
5 (a) Eliminate the arbitrary functioq f from the equation : 6
z=e"" f(ax-by)
to find the corresponding partial differential equation.
b) Find the general solution of the differential equation : 6
Xyt -2 )g-y( +2)p = (" +y")z.
(¢ Find the complete integral of the partial differential
equation - V 6

16p*2 +9¢°2* +422 -4 =0.

P.EG).
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6. (a) (i) - Classify the following partial differential equation™ =

into_elliptic, parabolic or hyperbolic : 25
x(xp =17 = (6 = Ds-+ y(y = e+ (x=1)p
+(y=-Dg=0

%z - 3z Bzz‘ . 0z 0z

= —— = — q:——

S S =i ] > = >
. ox* . oxdy’ oy’ & I’

(#) Form a partial differential equation by eliminating

constants a, b from the relation : 4
z=axtbytory.
(b) Find the general solution of the differential equation : 6.5
*(y-x)g+y (x-y)p=z(x’ %yz)-
(0 Fiﬁd the complete integral of 6.5

pxtqy=pq.
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